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BTE THHM | REEEH | BHERBRESE BTH THEH | HEEH | HEmHrEE
(T8 (A) (BFA) (Ti5) (A) (FH)
AHFE —TH 5 176 454664|t A —TH 5 32 32,909
X#&#®E —TH 10 237 453837|lf &® — T H 1 26 x
AHFE =TH 5 43 58364 & —TH 1 4 x
AHZEHE MTH 10 87 113419|%f &£ =TH 8 188 280,592
XK#HHE RTH 10 89 1024604 £ @ T B 2 43 X
K#HFm —TEH 19 156 128778|fF &= H T H 1 5 X
Xx#&™m —TBH 28 273 348521 & AT B 3 27 73,297
X#m =TH 20 192 255880|4fF &£ £ T B 5 47 84,466
A#HEE MTH 40 403 854,095|4f & J\ T H 17 179 209,342
AX#HFm RTH 13 122 140573l £ — T H 3 42 65,379
AHEF —TH 91 145602t £ = T H 6 45 51,072
Xx#&HR —TH 6 184 251103|itt £ = T B 6 57 137,121
KfFEF =TH 7 55 56.849|ith + @ T B 1 6 X
XK#%&®m —TH 26 374 499513t £ R T B 4 33 29,163
K#%HME —TH 22 323 373600t E AT B - - -
K#HME =ZTH 12 331 767598t £ £ T H 1 7 x
A#HFMB MWTH 24 512 1030381l £ J\NTH 6 88 136,131
A#HEME RETH 10 91 84,155((R;E8& —TH 1 160 X
A#HEWE ANTH 1 6 N=ES ZTBH 88 1,884 5,018,909
A#HEMA £TH 11 388 720654|HESE =TH 4 59 584,594
XK#EdL —TH 2 18 & & —TB8H - - -
A#FEd ZTH 1 4 Xm & ZTBH - - -
X#FdE =TH 4 29 48767k # =T B 1
A#Ed WTH 1 4 X & M™TH - - -
XK#EdLE ATH 6 121 86,287|IFR # EH T H - - -
K#HEd ATH 4 46 106,152|F & N T B 1 89 x
AHZEAE—TH 4 55 125314l e —TH 3 45 547,118
KHEAE-ZTH 3 27 19747k M e —TH 36 863 2,093,080
e —TH - - -HmEe =TH - - -
EHME ZTH - - e mTH 13 269 485,255
EME =TH - - -HiEe ATH - - -
EME MWTH - - -|HEsE ATEH - - -
EME ATH - - -HiEse £tTH - - -
EHME ATH - - X & # X &t 583 9,565 21,696,237
Bis —TH 7 225 776,716|[= e ) 1 8 x
Bi#ME —TH 8 185 603,574[78 e i 1 6 X
W ¥ —TBH - - -3t e i 3 26 45470
W £ - TH 2 9 X|BH B F ™ 4 47 31,795
W ¥ =TBH 3 48 42,881|(A & 5 7 A BT 1 5 x
W ¥ W®TEH 1 40 X|EHBEHFHA—TE 3 38 21,731
EMOFLE - - |HERAH=TE - - -
REA —TEH 5 52 62,762|HEFHHA=TH - - -
HEA —TH 1 12 x|HE AT B - - -
mEA —TH 3 23 28,705|HEFHHAETH 2 51 X
mEXA ZTH 3 20 21202 & K ¥ H 1 4 X
EmEXA =TH 2 22 XNEDA —TH 1 7 X
mEA WMTH - - oKX ZTH 6 102 139,106
EmEXA ATH 1 5 DK =TH 4 34 48,787
mEA KTH 2 25 I+ & —TBH 6 76 78,197
b EA —TH - - H+ & =ZTBH 20 313 548,749
hEA ZTH 3 46 61643|F & =TBH 20 22,532
hEA =TH 4 95 171,220|FE A R—T B - - -
mEA —TH 3 26 46,675||FE AMNER =T H 3 24 21,733
mEA ZTH 3 29 46435|A AR —TH 1 13 X
ttEA —TH 2 62 NJANER ZTH 11 233 408,994
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BTE THH | EEEH | AERBRESE BTH THEH | HEEH | HERbmEE
(T18) (A) (BFA) (Ti5) (A) (BFA)

ANE =TH - - & % —TH 5 28 17,826
ANE MTH 1 9 gk & ZTBH 5 67 101,653
ANE HTH 6 138 250054|Fxk =T H 12 212 303,445
ANE ANTH - - —[EAE —TH 8 128 217,436
mTHR —TH 4 38 39,227l AH —TBH 5 40 51,843
mF*TER ZTH - - EAE =TH 14 274 187,786
mTE =TBH - - —[FESNE —TH 12 146 206,162
ttF®E —TH - - [FESNE ZTH 18 174 308,212
ItF®E ZTH - - FESNE =TH 15 189 315,931
dtF+ER =TH 2 16 XFEAHE mTHE 21 282 401,874
AJIIET —TH - - —F/E —TH 18 237 393,593
HJIET ZTH - - A ZTH 22 255 295,646
it —TH 22 309 451,632\ /< =TH 27 446 796,597
it —TH 22 349 566,771|[{h /< — T B 12 84 68,813
HEAN —TBH 1 25 XA —TH 6 56 191,342
REA —TH - - R AEM =TH 3 34 31,128
HESN =ZTH - - /< BT B 8 77 81,990
HEA ®TH 1 4 FTHF —TH 17 188 242,058
HEA RETH 2 24 FTHF ZTH 34 812 1,562,875
BmES —TH - - HFTAaF =TH 3 21 22,099
EmES Z—TH - - |FTHF mTH 10 164 596,313
MESX =TH - - Hx o —T8H 14 262 376,668
HEA WTH 1 12 Xk @ = TB8H 28 307 426,495
EMEA ETH 3 27 19844|% O =TH 31 852 1,576,934
& —TH 3 34 65975||lm%&x 0 —TH 1 4 X
thwas ZTH - - ExO =ZTH 3 25 33,000
& =TH 8 52 48741|m%& 0 =TBH 4 33 37,987
s ©TH 2 14 NZEIN —TBH 10 108 172,409
s RTH 8 79 103,6300Z EJ)Il — T B 25 576 809,056
oo X OBt 158 2,137 3,151,652[®EMH — T H 1 9 X
Bt —TH 22 398 783427||IREH —TH 14 122 102,364
Hitn —TH 8 228 446,783\ H — T B 5 35 38,563
Hfta =TH 7 164 370,122|FaEH — T B 18 134 165,407
H#tHN mWTH 18 269 398228|[@HE =TH 9 74 89,171
BN RETH 30 442 914019|(FEEHE —TH 3 18 23,710
Bt ANTH 25 526 1357, 724|fF@5& @ —TH 2 26 X
mfts —TH 7 63 66,779\l H =T H 3 30 33,977
mits —TH 18 189 294,169|FEE M WTH - - -
wmits =TH 15 172 254,330|(FEHHE HETH 2 38 X
wmitN mWTH 5 46 47172|[FEEH ST E 2 15 x
¥t —TH 24 248 339,185|(FEHH £ TH - - -
t¥ts =ZTH 11 189 314608|(FEHEME J\TH 1 20 X
N OB B A 4 44 7916268 B — T H 5 76 117,562
¥ H —TBH 10 77 101,872 B = T HB 1 6 X
P BH —TH 3 17 14082 B =T H 3 20 19,054
¥ H =TBH 2 15 X% B m©TH 4 30 25,756
¥ H mTH 7 71 55783 B E T B 3 52 45,568
¥ B ATH 4 23 30,716[EEHABT—TH 3 63 121,789
F BH KTBH 3 34 311T8|EHAEIZTH - - -
APH —TH 19 228 462313\ H — T H 3 14 5528
APFH —TH 28 290 304374|FEH —TH 3 29 26,000
APH =ZTH 6 79 117877\ EH =TH 9 86 103,060
PHEHE—TH 1 13 X#E B # X 5 762 10,803 17,770,431
PHEHZTH - - -
FHZEE=TH - - & it 1,503 22,505 42,618,320
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